(a) REF: CLaMS 1990-2006 AlH20), % per dec

Pot. temperature [K]

Latitude [deg]

(b) APPROX: 1990-2006 A[H2Olentry, % perdec. ~ (C) Improved APPROX A[HzO]entry, % per dec. (d) FULL:1990-2006  A[H2Olentry, % per dec.
1000 ' ' 1000 .
900 900 I g
< < <
— o 800 o 800 4
2 g 700 & 700 -
2 2 2 0
S g 600 g 600 )
I3 o I3
¥ = 500 g 500 -
o o o _6
400 400 »
300 = 300 = 10
Latitude [°] Latitude [°] Latitude [°]
(e) APPROX 1990 2006 20(A[CH4]entry, % per dec. (f) Improved APPROX 20(A[CH4]entry, % per dec. (g) FULL 1990 2006 20(A[CH4]entry, % per dec.
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(h) ReS|duaI (a) (b)-(e) 2[CH4lentryA, % per dec. (I) Residual: (a) (c) (f) 2[CH4lentryAat, % perdec.  (J) FULL: 1990 2006 2[CH4lentryAc, % per dec.
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